
Richmond Session #97, Beatini, A FUNdamental Approach to Connecting Families of FUNctions 

 
Linear Equation Family:  Y = Ax + B 

A. What is the equation of the red line? 
 

B. To review, how does the value of A affect the graph 
of the line? 

 
C. For positive values of B, is the y-intercept above or 
below the x-axis? 

 
D. For negative values of B, is the y-intercept above or 
below the x-axis? 

 
E. How does changing the value of B affect the graphs 
whose equation is of the form Y = AX +B? 

 
F. Describe and compare the graphs y = 2x – 2 and  
y = 2x + 1.5. 

 
G. Describe and compare the graphs y = 1.5x – 1 and 
y = -2x – 1. 

 
H. What is the equation of the black line in #10? 

http://nctm.confex.com/nctm/2014IN/webprogram/Session26187.html


The Dynamic Graph Feature: Y=Ax
2
 +BX + C 

A)  Summarize how changing the value of A affects the 
graph of the function. 

 
B)  What happens to the graph of the function as the 

value of |A| increases?  In other words, what 
happens to the graph of the function if A is positive 
and you increase its value? 

 
C)  Summarize how changing the value of C affects the 

graph of the function. 
 

D)  Summarize how changing the value of B affects the 
graph of the function. 
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